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Force of Gravity, Normal Force and
Centripetal Force

Goal:
- to become familiar with different types of forces
- to be able to calculate different types of forces
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Law of Universal Gravitation
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Determine the force of gravity between you and the person
sitting next to you.
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Determine the normal force in the following situations:

AFe=ag N
m=+10kg
sz M N
m=10 kg

Fq=95 N
F - (O N FO\: \O N
Fyz (o5 N T pfuesen
m=10 kg m=10 kg
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Fj“= Fj Sin%O‘ = Lf‘cl N

FSL = Fj cos 30 - $9.9 N

FN=F3,_=8q.qN
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Elevator problems

when elevator is accelerating upwards you feel...

heavier
Tu 2T,
when elevator is accelerating downwards you feel...
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A person with a mass of 80 kg is in an elevator. The normal
force exerted on the person is 600 N. What is the acceleration
of the elevator?
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A person with a mass of 60 kg is traveling in an elevator that is
accelerating at 1.5 m/s2[up].

a) What is the normal force acting on the person?
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b) What is their apparent mass?
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